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St George Girls High School
Year 9 -
Yearly Examination
October 2015
Math ti
nstructions
1. Whrite in blue or black pen Time Allowed: 70 minutes
2. Show all working . Marks: 80
3. Marks will be deducted for caretess or badiy :
arranged work
4. Calculators may be used
5. Diagrams are not to scale
Section - Marks | Total |
A~ Chapters 1 -6 15
B -~ Probability 15
€ - Property of Geometric Figures _ 25
1) - Quadratic Expressions and Algebraic Fractions 25
Total | 80

%
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ection

Chapterél 6
(15 marks)

- Show all necessary workmg inthe space provided

For Questions 1 5 Multlple Chmce circle the correct answer.
1. The solution to ,5.—5 =4 is:

(A) x =—3

(B x=19 i
©vx=27 |
M) x=17 }

(B) x=-11

2. The correct expression for the triangle shown is: -

(4) x=7sin29°
(B) x=7cos29®
{C) =x=7tan29®

o _ 7
- (D) X =inaoe
. 7
(E) = cos 29°

3. - Ifthe polnt '(—i, 2) is (')1.1 theline y= 3x + b, the value of bis:

(&) b=5
®) h=-
© b=1
®) b=-1
(B) b=

Marks
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Section A (continued). .
"4, §E% written with a positive Index is: )
@) —5¢

® oz

5x38

© =

® o=

® =

5. The area of the curvedAsurface only of a half-cylinder with radius 10 mm and
height 24 mm is closestto ?

(4) 377.0 mm?
(8 1580.0mm? !
(C) 1822.1mm?
(D) 754.0 mm?
(B 91limm?

6. Petais investing her $59 000 in an account that comi)ounds annuallyat32%pa. 1
How much does she have after 4 years to the nearest cent? :

-7. Find the value of the pronumeral, 8, correct to the nearest dégreel

3.9

1.2

Marks
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Section A (continued) Marks
B. FRully simplify.

Y494yt X («*y°)

-

9.  Find the equation of the line which has a gradient of 3 and passing through the

point (0,-4)

10, A ﬁshihg boat staris on a jburney from p‘oint 0 and sails 80 km on a bearing of

140° to point B.

2

3

a) How far.east (to the nearest kilometre) of

b}

its starting point is the boat?

What s the bearing of O from B ?
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Section B

Probability :

{15 marks) Marks

Show all necessary working in the space provided.
For Questions 1 - 5 Multiple Choice — circle the correct answer.

1. A letter is randomly chosen from the word ENCYCQQPEDIA. The probability that-

itisanE is: ‘ .
. 1
S GV
. 1
@5
1
© 3
1
® 75
2
® 5
2. Thevalue of x and y in the two-way table are:
P NOTP | Total
Q 6 11
- [NOTQ 5 y
'  Total x 31

A) x=9 y=15
(B) x=5 y=6
(€) x=10y=15
D) =10 y=20
45} x=_10y=12
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Section B (continued) . ) Marks

’ 3, Which shaded region represents A or 8?7

@ (8)

©

(E}

" 4, . A bag contains 5 pink balls and 2 green balls, Two balls are randomly selected

_without replacement. The probability of selecting one of each colour is:

5

@) 7
11
® 5
1;9_
21
E
49

5
21

(©
®)

- (B)
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Section B (contnued)

5.

From rolling a biased die, a class finds an experimental probébility of 0.28 of
rolling a 3. From 300 rolls of the die the expected number of 3's would be:

(A) 168
(B) 72
© 84
() 150 : : ‘
(F) 216

From a survey of 100 peaple, 70 have dogs, 35 have cats, 15 have both dogs and

cats and 10 have neither.

a)  Constructavenn diagram for the survey results.

b) How many pecple have dogs only?

c If one of thé 100 peuﬁle were ran'd'omly selected, ﬁnci:

() P (haveboth dogsand cats).

(i) P (don’t have dogs).

(if) P (only have cats).

Page T

Marks
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Section B (continued) Marks
7. 'Two letters are chosen from the word MEET without replacement: ' .4

a) List the possible outcomes in a table.

M E | E T

W (e m | =

b) Find the probability that the two letters chosen are both K.

¢) Find the probability that at least one of the letters is an E.

8. The region A4 only could be thought of as tﬁe intersection of A and the
complementof B so A only= ANB" ~ : :

Use set notation to describe the region ‘B only’.

1 -
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" Secton C Section C (continued) Marks
Property of Geometric Figures - : "* 5, . The scale factor in the two similar figures that enlarges the eriginal figure to its
(25 marks) S o Marks - image Is: ’ . ' ‘
Show all necessary working in the space provided. . A 02'9".'3! Image
For Questions 1 ~ 10 circle the correct answer. - cm_
1. The angle that is supplementary to the angle of 75%is: - ' 1 . Zem
4 15° . 14cm
(B) 75° _ :
(C) 115° 1
{D) 105°
() 285° ‘ o w7
. : - ® 4
2. Whatisthe value of x if AB is parallel to cD? 1 © 2

@) 80° _ A B () :5 )

By 10° i ® 3 -

© 100° g

@) 160° 6. Thevalue of a and b in the diagram are:
() 110° c D .

3. A qﬁadrilateral with all four si&es equal and oppogite sides parallel is best
describad by a: : i : 1
(A) parallelogram . ' )
{B) rhombus
("6), rectangle
_(D)- frapezium

(&) a=40 b=50 ] o

(E) kite
: : "(B) a=65.b=50
4. The sum of the interior angles in a heptagon is: 1 (¢} a=65 b=75 )
(a) 1260° . d D) a=85 b=460
(B) 900° ' : . (B) a=50 b=35
€y 1080°
(D) 360°

(E) 630°
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Section C (continued) Marks Section C (continued) Marks
7. The test that proves these two triangle are congruent is: - 9 - The value of ¥ is: ’ )

(A) x=460
(A) SAS : _ 7 , (B) x =100
(B) RHS . ‘ {0) x=150
(€) S8 E e - (D) x =160
(D) AAd | - : (B) x=120

(E) AAS
10. Thevalue of x Is: : -

8. Thevalue of x in these similar triangles is:

1

() 208
) x=12 . ' L - &) 1% i
i R om
(€ x=15 - S B ) 2 )
@) x=06 S o ' ' ® 20
B =3
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Section € {continued) ’ Marks
Section C {continued) Marks E
. T ) 13.
11. a) Determine the value of LABC . "3
B_53m /- ;
¢  127m D
4 6.1m
2
A -
a) Name the angle that is vertically opposite co LACE . 1
' , D 7b)  Prove that AABC |[| AEDC. 3
12, Given AR = DC and £ABC = £D(B
. ¢) - Find the length of ED to one decimal place. 2
a) Provethat AABC = ADCB. : 3 ' o

by Henceprovethat AC=DB. . 1
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Section D
Quadratic Expression"s, and Algebraic Fractions’ .

“{25'marks) _
Show all necessary working in the space pravided.
For Questions 1 - 10-circle the correct answer,

1. “(3x — 1)(x + 2) in expanded and simplified form is:

A 3 +7x—2
(B) 3x% +5x—2
(©) 3x2-7x—2
(D) 3x%+5x+2
() 3x2—-7x+2

2. " (5x — 1)? in expanded and simplified form is:

(&) 252 +1

(B) 25x%—-1

(C) 2522 —5x+1
(D) 25x2% —10x+1
(B} 25x% —10x—1

3. If (x —3) isafactor of x% 4+ 4x - 21, the other factor is:

(@A) x

B) x+7
© =-7
(D) -x—18
(B). x+4

- 4. Factorise completely 3(x —y) —x(y —x),

@) @-»E-n
(B) (x—»)(x—3)
© G-0E-x
® @+3)E-y)
B G-+

St George Girls High School .
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"5 (5x— 3y)(5.x +3y) in expaﬁdgd and stmplified form is:

Section D (continued) _ Marks

(A) 25x? — 6y — 9y?

(B) 25x% +9y* .
(€ 10x? = 6y*

(D) 25x% — 9y?

(E) 10x% -3y +9y*

6. Factorise completely by grouping 2pgq.— 9 — 1Bq +p.

) @q-DEp+9
® E+92q+1)
(0 2¢+D@—q)
®) q+NE-—~1
E) 2q-9@p+1D

7. Factorise 4x2 — 81.

A (2x-9»

(B) (4x +81)(4x —81)

© (x—9)¢Ax+9)
(D). 2x+DCx—9) _ .

(®) 2(2x2-81)

- 4 2
8. Simplify the following completely ™ + =

T
W= o
14
9x2

41

©

27x

®)

14
9x

42x
® 29x2

D)
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Section D (continued) Marks
' C 5x+5  x4+3
9. Simplity YErExi6 x4l
A S(x +2)
® o
() x+2
o’ ;r;
(B) 5(x+3)
he sal I
. 10. T esoutmnm‘2 xH4x+1 3
1
(&) —53
11 .
® 4
11
1
1
® -7
1 a) Smplfy Sx% 4
) . Ix & ..
b} Factorise 1 —a?
oo 2x=16
c) Simplify 324’

8t George Girls High School
Year 9 Mathemahcs Common Test 3 — 2915

T r2x%-18x+40

Bxd15

x%-x—-12

.)574::2-—100

End of Examination

. Page 138

Section D {continued) Marks
- 1 2
- 2. Simpli - ;
A2 Simplity 9D | GrAe5) -3
1 e
3. Solve T 3% =20, 2
‘14;' Simplify by factoring first 6
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